7a. Hassan says,

N

If | add the answers
together for 4 x 9 and
3 x 9, | get the same
answer as 10 x 9.
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Find and correct his mistake.

7b. Lily says,

~

If | subtract the answer to
4 x 9 from the answer to
12 x 9, | get the answer
toe7x9.
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Find and cormrect her mistake.

8a. Connor is helping to store bikes in the
bike park. He can put ¢ bikes into each
rack. Each rack he has used is full.

Connor has filled more than 4 racks but
fewer than ¢ racks.
How many bikes might he have stored?

8b. Emily is putting biscuits in jars. She can
put ? biscuits in each jar and each jar is
full.

Emily has more than 70 biscuits but fewer
than 100 biscuits. How many full jars might
she have?

9a. Sophie and Armin are comparing how
many sweets they each have. Sweets are
kept in bags of 9.

Sophie says,
| have more sweets than
Armin because | have §
bags plus 18 sweets.
5 9 Armin has 7 bags of

sweefs,

/

9b. Jim and Kat are sharing game cards
with their friends at their after-school club.
There are ? game cards in each pack.

Jim says, | have given more game )
cards to my friends than
. Kat because | have
given out 7 packs. Kat
* &

has given out 54 game
cards. J




